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91. (3) (1) N2 : bond order 3, paramagnetic
N2

- : bond order, 2.5, paramagnetic
(2) c2 : bond order 2, diamagnetic
c2

+ : bond order 1 .5, paramagnetic
(3) NO: bond order 2.5, paramagnetic
NO+ : bond order 3, diamagnetic
(4) 02 : bond order 2, paramagnetic
02

+ : bond order 2.5, paramagnetic
92. (1)
93. (3)
94. (3)
95. (3)
96. (3)
97. (1)
98. (4)

99. (3) M.O. electronic configuration of CN   is 2 21 * 1s s 
2 2 2 2 22 * 2 2 2 2x y zs s p p p    
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M.O. electronic configuration of 2O  is

2 2 2 2 2 21 * 1 2 * 2 2 2z xs s s s p p      2 2 2 2 2 2 2 2 11 * 1 2 * 2 2 2 2 * 2 * 2z x y x ys s s s p p p p p        
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M.O. electronic configuration of CN+

2 2 2 2 2 2 11 * 1 2 * 2 2 2 2x y zs s s s p p p      
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M.O. electronic configuration of NO+ is
2 2 2 2 2 2 21 * 1 2 * 2 2 2 2z z ys s s s p p p      
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CN– and NO+ have bond order equal to 3
100. (2) For C2 (12) :

For N2(14) :

For B2 (10)

For O2 (16)
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F2 is (18)

 2N  has the highest bond order = 3.


